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AS Level Mathematics A Exemplar Candidate Work

Introduction

These exemplar answers have been chosen from the
summer 2018 examination series.

OCRis open to a wide variety of approaches and

all answers are considered on their merits. These
exemplars, therefore, should not be seen as the only
way to answer questions but do illustrate how the mark
scheme has been applied.

Please always refer to the specification https://www.
ocr.org.uk/Images/308720-specification-accredited-
as-level-gce-mathematics-a-h230.pdf for full details of
the assessment for this qualification. These exemplar
answers should also be read in conjunction with

the sample assessment materials and the June 2018
Examiners’ report or Report to Centres available from
Interchange https://interchange.ocr.org.uk/Home.mvc/
Index

The question paper, mark scheme and any resource
booklet(s) will be available on the OCR website from
summer 2019. Until then, they are available on OCR
Interchange (school exams officers will have a login for
this and are able to set up teachers with specific logins
- see the following link for further information http://
www.ocr.org.uk/administration/support-and-tools/

interchange/managing-user-accounts/).

Itis important to note that approaches to question
setting and marking will remain consistent. At the same
time OCR reviews all its qualifications annually and may
make small adjustments to improve the performance of
its assessments. We will let you know of any substantive
changes.
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AS Level Mathematics A Exemplar Candidate Work

Question 1(i)

1  Im this question you must show detailed reasoning.

(i) Express 37 in the form a Vb, where a is an integer and b is a prime number. [2]
Exemplar 1 2 marks
Exemplar 2 0 marks

W] 2E %

Exemplar 3 0 marks

Examiner commentary

This question required detailed reasoning and many candidates answered this question well (Exemplar 1). Some candidates
gave the correct answer with no working (Exemplar 2) or as a decimal rather than in the form required (Exemplar 3). These

scored no marks due to the lack of detailed reasoning.
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Question 1(ii)

(ii) Express N fiﬁ in the form ¢ + dve, where ¢ and d are integers and e is a prime number. [3]
Exemplar 1 3 marks
Exemplar 2 2 marks

@) 2 (lE M o 4L G

(AR

8,.

Exemplar 3 0 marks
1{ii) Iy
1-4z.
- [ MO
{ —~— S

-2 =0T,
Examiner commentary
Many candidates correctly demonstrated the detailed reasoning required (Exemplar 1). A few made a correct first step,
multiplying numerator and denominator by , but made a subsequent error (Exemplar 2). Some candidates gave the

correct answer with no working (Exemplar 3). These scored no marks.
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AS Level Mathematics A Exemplar Candidate Work

Question 2(i)

(i) The equation x?+3x+k =0 has repeated roots. Find the value of the constant £.

2]

2
Exemplar 1 2 marks
Exemplar 2 1 mark
W) et V=0
b*-4ac=0 bwo coual wels
- w0 =a
q - 4V =¢g (M1
- 4% = -9
© =%
| W s =y
Exemplar 3 0 marks
26) X ¢ 3 sU=0 pas ccbed woNS Fnd O usp

o‘{g q_‘f dejuf\ﬂth" &

".—ch‘& YRAA = O
| e Llawrz)ew

X =<

U= -0 - s

Examiner commentary

This question was answered well, particularly if using the discriminant (Exemplar 1). A few candidates started correctly but
were unable to rearrange the equation to correctly find the value of k (Exemplar 2). Some seemed not to understand what is

meant by a quadratic equation having repeated roots (Exemplar 3).



AS Level Mathematics A Exemplar Candidate Work

Question 2(ii)

(ii) Solve the inequality 6+x—x>>0. [2]
Exemplar 1 2 marks
2(if) _ {r % -;,: >0 . <5 -é}-ﬂ .
G > _){_,‘L — -4 _ . é

¥t oy b <o

(x-'ﬂ\(;x_n\ <6 _
cabd ol e xz ’; __'x.:*'l’- -

/
7z

Exemplar 2 1 mark
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Exemplar 3 1 mark

2(if) .
=~ X4 6 20 - I

sc--6 <6

B -3)(xq2)C O
=3 X=-=2 L9 )

Examiner commentary

A number of candidates were able to produce well-presented correct solutions (Exemplar 1). However, many others, although
able to identify key values, were unable to correctly deal with relating these to the inequality (Exemplars 2 and 3).
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AS Level Mathematics A

Question 3(i)

Exemplar Candidate Work

3 (i) Solve the equation sin’6 = 0.25 for 0° < 6 < 360°. [3]
Exemplar 1 3 marks
Exemplar 2 2 marks

3W| oD zo.2§ . _ @051y
AN L {r 0LS
R LB1 |

o - '
S\l-\ B: 2 ) == (:ne = "1 Y

0 - (3) b b= szf’. |

i 5 .

WEw-b, 0CsoXMo o

:‘,7(;’,'.. : 0 R © ] -
L D=3 Ji}ﬁnlﬁn?lgo
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Exemplar Candidate Work

Exemplar 3 1 mark
30| sintl- s 025 O 46 430
sin fragg _ L
& = 20 _ " - .
\$6ZB@ (80 -30 =( 50 I
| . | . <o (5@ 440
6= 0150° E o~
[~ ‘
Exemplar 4 0 marks
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Exemplar 5 0 marks
Exemplar 6 0 marks
36) ..
| 70

DA

S 025 wg

ey 22098 R G000

Examiner commentary

Very few candidates were able to give a completely correct solution (Exemplar 1). Some only gave three rather than four
solutions (Exemplar 2). Many candidates omitted sin 8 = -0.5 (Exemplar 3). Others found sin-'(0.25) = 14.5° (Exemplar 4). Of
these, some then found or 14.52 (Exemplars 5 and 6).
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Question 3(ii)

(ii) In this question you must show detailed reasoning.

Solve the equation tan 3¢ = +/3 for 0° < ¢ < 90°. [3]
Exemplar 1 3 marks
Exemplar 2 1 mark

12 © OCR 2019
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Exemplar 3 0 marks

3(i)

a-"‘- 3 6 3 :J
+fu-\ g?)l) GO i
~

@xéO\ .| RU

Examiner commentary

A good number of candidates gave completely correct solutions (Exemplar 1). Most obtained “3@" = 60°, but not all included
240° (Exemplar 2). Many then thought that they needed to multiply rather than divide by 3 (Exemplar 3).
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[ ] [ ]
Question 4(i)(a)

4 (i) Itisgiven that y = x* +3x.

(a) Find %. [2]
Exemplar 1 2 marks
RCC S ORISR o |
Exemplar 2 1 mark
KGO R

| S N v 3

oy

Examiner commentary

This question was answered correctly by almost all candidates (Exemplar 1 where x' was allowed) although some only dealt
correctly with one term (Exemplar 2).
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Question 4(i)(b)

(b) Find the values of x for which y is increasing. [2]
Exemplar 1 2 marks
OO | L gtaty L
gt wWhan 1=>0, x> 0 ~3 \ N p
%’ & ek L \ . / »
- : = : .|_':- i AWK+
: - .&, - i LIS
x R PRI
_ — —x—
M 5 W Sing, .ﬁgr HER® N N J
Exemplar 2 0 marks
Exemplar 3 0 marks
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Exemplar 4 0 marks

4G)(b) . 'A"‘.:v_ - ' ' | E

pe——

Examiner commentary

A good number were able to give correct well-presented solutions (Exemplar 1). A significant minority of candidates appeared
not to understand what is meant by “increasing” (Exemplar 2 where y > 0 was found). Some found the coordinates of the
stationary point, but did not recognise this as the minimum and did not proceed from this to the answer (Exemplar 3). Others
seemed not to understand the question and merely stated the second differential (Exemplar 4).
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Question 4(ii)

() Find [(3-4vx)dx.

Exemplar Candidate Work

[5]
Exemplar 1 > marks
4| § (1 - f;.j?t.) M = g -(_"(*zgh "’3\, 'ii - A |
o = - 3;-3_ Xt 3% Y¢
Exemplar 2 4 marks
awy| .
(e3- $J%X ) ofx
¢ L
| 3> - ¢x> dx
N LML
7= bx "“.;"-;}X-%f’ ——
4 r~1i [AL] i
Exemplar 3 3 marks
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Exemplar 4 2 marks
Exemplar 5 1 mark
”4(ii) [ . . .. . L . .
oy ; _

"

= |
~L —— i<
(Bl

BO
M0 | AD.] .

Examiner commentary
This question was answered correctly by many candidates (Exemplar 1). A few candidates omitted “+ ¢” (Exemplar 2).

A few obtained correctly, but with an incorrect coefficient (Exemplar 3, where the B mark was also lost due to the inclusion
of the integral sign in the final answer). A few correctly recognised the index for root x but then differentiated rather than

integrating (Exemplar 4, although they did also recognise the need for “+ ¢"). Some “integrated” to give
(Exemplar 5, although they did correctly integrate the 3 term).
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Question 5

5 Nis an integer that is not divisible by 3. Prove that N? is of the form 3p + 1, where p is an integer. [5]

Exemplar 1 5 marks

5 Le.LN Doty o
(3:\ +D |
= .1@&¢L+1n7+l = 'SI,yH (,:u«i’!ﬁutét Tn F2n

M1

= W fn 0T
’%C’:’m —~Zn)+—l JLLH Mpf-%"{f?{\

g‘“‘“@ tha mﬁm wt‘qho P'M%Jbﬂv‘lwi&fmr ,.N n.of OLN-CSJO&: Iau\ 3
”‘ st be g fe fForm %P Tl 4 vﬂﬂmpw an W‘&ﬂ’“c
bt - g@_
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Exemplar 2 0 marks

ST M AR diiMe by %

N:S m,-\- AT o "J“J S

- NS | e
- 2(g) AL = | L
24 U Fes )
| Fos 3G Tlle Rec ks e
o ke 3(sje1 S ok gy fAMy
| 5= 25 3(gY4 | _ | A 5;4‘\.;'0'6 0w TS ack .
1= w8 syt R N
377 & @'2R0Al - |
| . . Mf'cf& SEH L Meony
- B} B Q\W\; | ocpeS QU SAU suaby

&5 £ Ul bl dy aveSor Erom
O 4 ik athy

Examiner commentary

This question tests “proof by exhaustion” as included in paragraph 1.01a of the specification. This method of proof involves
either considering all possible values or all possible categories of values. This question tests the latter. Although some
candidates were able to present an excellent proof (Exemplar 1), it was not well answered on the whole. Many candidates
merely verified the result in a few numerical cases (Exemplar 2). These scored no marks.

20 © OCR 2019




AS Level Mathematics A Exemplar Candidate Work
[ ] [ ]
Question 6(i)

6  Sketch the following curves.

M y== 2]
Exemplar 1 2 marks
6(1) | | by

a'Sjrw;leJ% & on Jlo s el (7 aacts

Exemplar 2 1 mark

60
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Exemplar 3 0 marks

6(i) ¥i Ve b J i \‘-‘

Examiner commentary

Most candidates knew what the graph looked like and a good number were able to gain full marks (Exemplar 1) but many
sketched it carelessly, with one or more “tails” moving slightly away from the axis instead of towards it (Exemplar 2, where
the crossed out part is ignored). Some candidates drew the curve in only one quadrant (Exemplar 3 where the curve is also

carelessly sketched so scores no marks).
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Question 6(ii)

i) y=x"—6x2+9x [5]
Exemplar 1 5 marks
6(i) |

yi

\J.' B
o~ = 'G:O
h)nf- "o T ::ﬁ.s - 63{,1 +9y To

© OCR 2019
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Exemplar 2 2 marks

Examiner commentary

Many were able to draw this curve correctly (Exemplar 1).Some candidates factorised correctly but then drew the curve
touching the x-axis at x = 0 instead of x = 3 (Exemplar 2).
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[ ] (]
Question 7(i)(a)

7  OABC'is a parallelogram with OA=aand OC =c. Pis the midpoint of AC.

~Y

(i) Find the following in terms of a and ¢, simplifying your answers.

(a) AC [1]

Exemplar 1 1 mark

| 70@ | BF = —A 4+ ¢

Examiner commentary

Almost all candidates answered this correctly (Exemplar 1).
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Question 7(i)(b)

Exemplar Candidate Work

(b) OP .
Exemplar 1 2 marks
[7om] 577 = BF + &Y i

Exemplar 2 1 mark
7@)(b) o N :
g /) T L7 L .’
e .."“-v"lﬁ_+')<ﬁf‘_c’av . ;
P > ot = i)
COP = 2o t(p (00 . 1
Exemplar 3 0 marks
e : 1
00| 5B _= % (aw) 0
= S E‘-‘- + -—-C—’-
2

Examiner commentary

Many answered this correctly (Exemplar 1). A few gave correct initial statements but did not simplify these appropriately

(Exemplar 2). Others seemed unaware of the difference between position vectors and direction vectors, simply giving half the
vector AC (Exemplar 3).

26
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Exemplar Candidate Work
Question 7(ii)

(ii) Hence prove that the diagonals of a parallelogram bisect one another. [4]
Exemplar 1 4 marks

A
v

Op = -;,c:@u-ﬁ 1R .
| Thes P:s MLS'o MMI?{’MW d,mgw‘[

5?“._.

e Pczm wﬁﬂl@amf & ﬁamom; fketw onflersedt M
a{hrs mw[n m&wﬁu} '

[BT]
Exemplar 2 2 marks
g . g e NGO
0f= Jasic
_FC:-. _-_E*E
&0 =, -&E -2
Be = BACRF - _
s -+ 71¢-1 o -
3 ”A-L.Q "'\-E‘,_&
ey —>— - :
Be =-0f " wd  [@S[:[AC]
Mt.o.. divgonals cooss. [ [A0IED]
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Exemplar 3 0 marks

Exemplar 4 0 marks
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Exemplar 5 0 marks

Examiner commentary

Although some were able to give a clear and concise proof (Exemplar 1), it was clear that many candidates had not significantly
met the concept of proof using vectors. A number of the more able of these were able to make some correct statements but
did not develop these into a complete proof (Exemplar 2). Some did not make a correct start and misstated the vector OB
(Exemplar 3). However, perhaps the majority of candidates did not know how to start answering this question at all (Exemplar 4
and 5).
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Question 8

8 In this question you must show detailed reasoning.

The lines y = %x and y = —%x are tangents to a circle at (2, 1) and (-2, 1) respectively. Find the equation

of the circle in the form x* +y2 +ax+by+c = 0, where a, b and ¢ are constants. [6]

Exemplar 1 6 marks
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Exemplar 2 0 marks
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Exemplar 3 0 marks

Examiner commentary

Some produced clear and succinct solutions (Exemplar 1) but many candidates did not draw a sketch, thereby making it
extremely difficult to make a reasonable attempt. Some did not consider one or both normals and, therefore, were unable

to make any significant progress (Exemplar 2 where they recognised the need to find the gradients of the normals but did
nothing with these). Many found the midpoint of the line joining (2, 1) and (-2, 1) believing this to be significant but appeared
to have little knowledge of the standard equation of a circle in terms of the centre coordinates and the radius (Exemplar 3).
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[ ] [ ]
Question 9(i)

9 Jo is investigating the popularity of a certain band amongst students at her school. She decides to survey a
sample of 100 students.

(i) State an advantage of using a stratified sample rather than a simple random sample. [1]

Exemplar 1 1 mark

9i) A ,;(:m&;@ct nglg,)(ﬂ, Joa&ef rﬁpraemks Mﬁtm 'SUE'-‘ﬁ-f;"’P‘."’m“\” :I

T

Exemplar 2 0 marks

9G) Ulehﬁi 5{*\rahﬁeﬁl C;%MQW cowz,o& G;ei' Move. W
r&sum fﬁ/omﬁm S'MM’TS ad. J@Jﬁ;ww

: :‘“b& Mhnq e covcivt  vounge g*'@%' Mww ﬂw%va
| - ommnm esmis - Hhat - il be, _mis IM =)

Exemplar 3 0 marks

o) |

Exemplar 4 0 marks

9) | A sreads £ ool mm\rz rs .rapres—e..\}wlwf @F— 'H’NL who Lo
populoviion. A

Examiner commentary

Few completely correct answers were seen (Exemplar 1). Many incorrect answers were seen, such as “It is more
accurate”(Exemplar 2) or “Not biased” or “It’s easier” (Exemplar 3). Many inadequate answers were also seen, such as“It is
representative” (Exemplar 4).
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[ ] [ X ]
Question 9(ii)

(ii) Explain whether it would be reasonable for Jo to use her results to draw conclusions about all students

in the UK. 1
Exemplar 1 1 mark
o(ii) Vo, wewns rfc S ar;t\ & shev  Selle gl
bR fe o Ee S0e®  SAY Cemt3 freq
: w ;ﬂo—\-vtd-d S‘U«.vo‘ : M&a-‘? --l' otu*’f . aok ~Llock -
:. L @fo gd.«_td‘.ff ghd‘]"’.‘s- u E\Q- t/u‘ o

Exemplar 2 1 mark

[ 9| . yowhd  nsh e LeROWOIAL Lo 0 LA
| M aQuits e Ot frewt hor ddveot [
onel. Ao deesnl .—LMM: MU\L [B1]

Sradasl_ Uevdwre tathe Ul e S W H2 |

Examiner commentary

A reason why the school might not be representative was required for the mark (Exemplar 1 and 2 illustrate the variety of
acceptable responses).
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[ ] [ ]
Question 10(i)

10 The probability distribution of a random variable X is given in the table.

2
S 4
- p p

P(X =x)

co|w | ©
—

(i) Find the value of p. [2]

Exemplar 1 2 marks

0| 5. ¢S aup ep =t

\&
o T A\
5? = | v i :
Sp.=. S
== .
Exemplar 2 0 marks
Examiner commentary

This question was answered correctly by most candidates (Exemplar 1). Some gave an indication that they knew that they
needed to use Zp but they did not give a correct initial statement (Exemplar 2).
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Question 10(ii)

(ii) Two values of X are chosen at random. Find the probability that the product of these values is 0.  [3]

Exemplar Candidate Work

Exemplar 1 3 marks

Exemplar 2 3 marks
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Exemplar 3 1 mark

Exemplar 4 0 marks

Examiner commentary

A number of correct methods to gain full marks were seen (Exemplars 1 and 2) but most candidates scored only one mark
because they omitted one or two of the possible routes to obtaining a product of 0 (Exemplar 3). Some ignored the given
probabilities and assumed that all outcomes were equally likely (Exemplar 4 where they also make the mistake of concluding
that there are only twelve possible outcomes of which six result in a product of 0).
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Question 11(i)

Exemplar Candidate Work

11 The probability that Janice sees a kingfisher on any particular day is 0.3. She notes the number, X, of days in

a week on which she sees a kingfisher.

(i) State one necessary condition for X to have a binomial distribution. 1]
Exemplar 1 1 mark
UG | Ty 594 045 mosh emehbe ddipiadovk prom one andlur -
. - A - , ! -
BT
Exemplar 2 1 mark

11(1)_ ’r‘/\.L mmmm eeliing c.f,

-

k-uw\ L«K\ur M;uuﬂ- VALY

Exemplar 3 0 marks
10\ T, everk cJ Lo ol virable X puent be
nalmadml- m Ne.\" nﬂc:”,or . aTm
Exemplar 4 0 marks
O ¥ N o anthab |
Examiner commentary

Only a few candidates were able to give correct solutions in context (Exemplars 1 and 2) whereas many gave no context
(Exemplar 3) and thus did not gain the mark. Many candidates appeared to have little understanding of what was meant by the

question, despite this type of question having been asked frequently in paper 4732 (Exemplar 4).

38
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Question 11(ii)

Assume now that X has a binomial distribution.

(ii) Find the probability that, in a week, Janice sees a kingfisher on exactly 2 days. [1]

Exemplar 1 1 mark

e X~ BCF,0)
00 ¥ =2

= C«, wo(} """G?S
= 0.%174

Exemplar 2 1 mark

11(if) XA ( 7, @,3\ . |
Pxz=3) 'z p3rer 02NT6Lay - oo
> eztg oy (3sF) L

Examiner commentary

Most candidates understood how to calculate a binomial probability. Some used the formula (Exemplar 1), while others used
the calculator function, giving only the answer (Exemplar 2). This is acceptable because “detailed reasoning”is not asked for in
this question.
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Question 11 (iii)

Each week Janice notes the number of days on which she sees a kingfisher.

(iii) Find the probability that Janice sees a kingfisher on exactly 2 days in a week during at least 4 of 6

randomly chosen weeks. [3]
Exemplar 1 3 marks
Exemplar 2 1 mark
- 1)

me, ohod‘lﬂm‘l"l'wé'-o(—'ﬁwuks) (‘Lmu_ on
P(%Mu_- m\*\w wedas\ O 3FE S
<0 A5 30 (45\6)

) ~0. °\‘3“LD ~.0 043204 (45f)

| MO
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Exemplar 3 1 mark
Exemplar 4 0 marks
1)’

(s

Examiner commentary

Many candidates understood that they needed to use their answer from part (ii) (Exemplar 1) but many did not do so correctly
(Exemplars 2 and 3). Low ability candidates tended to show little or no working (Exemplar 4).
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Question 12

12 It is known that 20% of plants of a certain type suffer from a fungal disease, when grown under normal
conditions. Some plants of this type are grown using a new method. A random sample of 250 of these plants
is chosen, and it is found that 36 suffer from the disease. Test, at the 2% significance level, whether there is
evidence that the new method reduces the proportion of plants which suffer from the disease. [7]

Exemplar Candidate Work

Exemplar 1 7 marks
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Exemplar 2 6 marks

2 Lok % e rv: svffis fromn- fumo\l dwstase”

: " TR I
WM : Sy A l-'wd . 0 O:"Z.. o

L B1

Under Moe  X~@ (250, 02)

1]

_p(Xec3e)= 00\56"\ (w) I
[A1]

T 0ot £ 007 benee mytek Han B,
.Nreﬁw& Tave wm\\mmuu}ﬂ‘ﬁ 2% |
st fnte - Laved fo . m@u‘:‘“& aad - I\Mpoi‘wsxs Thos
mross Yvore. 5 trovaa QA.-.OW\UL brak Ha rvo
mebhod 0[- ﬁmw’sm‘pkhn*i cdutes e nMﬁOF’LﬂOn g.lﬂ_ [|a1]
{'M' S WA dLi-ﬂ.Q&-Q_a.r& , £ i
[hos TX\'N wvdhence fo :omg*.-’r\ne, sblesnade WM@___
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Exemplar 3 2 marks
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Exemplar Candidate Work

Exemplar 4 3 marks
T
7("-—-3(2-50) < \ wShoa K =
_AsnAlser o |
Ho.g P= L Blonky vt
Q-5 e o -
bt 0l dmeont
I b BO
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AS Level Mathematics A Exemplar Candidate Work

Exemplar 5 0 marks

Examiner commentary

Many candidates had clearly been well prepared for a hypothesis test question (Exemplar 1). However, even these often made
errors. Examples of such errors were as follows.

«  Failure to define “p”in the hypotheses (Exemplar 2)
«  Finding P(X = 36) instead of P(X < 36) (Exemplar 3, where they also did not define “p")
«  Comparing the probability with 0.2 instead of 0.02 (Exemplar 4, where they also did not define “p”)

Some candidates appeared hardly to have met the concept of a hypothesis test (Exemplar 5).
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[ ] [ ]
Question 13(i)

13 The radar diagrams illustrate some population figures from the 2011 census results.

Liverpool Rutland

150% 1000

.
.

Each radius represents an age group, as follows:

Radius 1 2 3 4 5 6

Age
group

0-17 1829 3044 45-59 60-74 75+

The distance of each dot from the centre represents the number of people in the relevant age group.

(i) The scales on the two diagrams are different. State an advantage and a disadvantage of using different
scales in order to make comparisons between the ages of people in these two Local Authorities.  [2]

Exemplar 1 2 marks
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Exemplar 2

Exemplar Candidate Work

0 marks
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Examiner commentary

Many candidates gave correct answers here, although frequently they used far more words than were required (Exemplar 1).

Some gave inadequate answers (Exemplar 2).
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Question 13(ii)

(ii) Approximately how many people aged 45 to 59 were there in Liverpool? [1]
Exemplar 1 1 mark
:| 13 ! L Qopgo ek e , !
Exemplar 2 0 marks

Examiner commentary

Almost all candidates gave an acceptable answer to this question (Exemplar 1) although some gave answers which
demonstrated misinterpretation of the question (Exemplar 2).
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Question 13(iii)

(iii) State the main two differences between the age profiles of the two Local Authorities. [2]

Exemplar 1 2 marks
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Exemplar 2 1 mark
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Exemplar 3 0 marks

Examiner commentary

A few were able to give clear and concise differences (Exemplar 1). Others gave only one difference rather than two as required
(Exemplar 2). Answers that compared numbers (as opposed to proportions) of people in the two areas were not accepted in

this part (Exemplar 3).
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Question 13(iv)

(iv) James makes the following claim.
“Assuming that there are no significant movements of population either into or out of the two regions,
the 2021 census results are likely to show an increase in the number of children in Liverpool and a

decrease in the number of children in Rutland.”

Use the radar diagrams to give a justification for this claim. [2]

Exemplar 1 2 marks
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Exemplar 2 1 mark
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Examiner commentary

Most candidates recognised the key point here, which was that children are being born during the 10 years from 2011
(Exemplar 1). However, some only stated that Liverpool had a large proportion of people in the potential childbearing group,
and did not state that Rutland has a small proportion in this group (Exemplar 2).
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